Variance of drift measurement

@Drift distance: d=d(t-s/fc) — MC: linear-time-to-distance relationship

@Assuming constant drift velocity: d=v*(t-s/Bc)

@Variance in drift distance includes contributions due to variances in the path length s and
the particle speed Bc in addition to the time measurement from the wires:

2 2 2 r_g
o (td-r'?iffi) =o(t)+o (ﬁp)

2 5) 1 02(9) S mj‘ﬁj‘ )
Be)  B*c? P p

@Next step: to verify that the errors are correct, compute pull distributions for the parameters
(should be centered on zero with sigma=1.)
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Pull distribution for q/

Candidate
q/p pull distribution, 0.3 GeV/c pions Pull mean and sigma =thrown

5. 3.5, track
4__ i

B 3 _|_ _|_+
3:_ i —|:|_ _|_

: 2.5 4
2__ :

- ] —+
1 2:_ +—|—_|_

: j +
0 1.5 +

N : -+ +
AE 1:_+_|__|_ —+
2F i

n 0.5
3k ] T

. . I o

- 0 ~+ ++
-4 O + ]
_\5: _n‘ﬁ_lllllllllII|III|III|III|III|III|III|III

0 2 4 6 8 10 12 14 16 18 20 0 2 4 6 8 10 12 14 16 18 20

8(deq) 8(deg)

.!effers?un Lab



Pull distribution for direction tangent in x
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Pull distribution for direction tan

dpy/dpz pull distribution, 0.3 GeVic pions
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Pull distribution for x
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Pull distribution for
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